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I BEINEE
1. ZMEE
SEZNE 0 24,000 24,000
SM=EET 0 24,000 24,000
2. TME[E
-ZWEME 0 0 0
SMEFEE 0 0 0
3. MR EFE
- RMEBRE 0 0 0
-NEERAEIGERNE 32,000,000/ 103,000,000/ 135,000,000
-FFEKRBEBRE 0 3,000,000 3,000,000
-Els-EE - CRBERES 0 15,000,000 15,000,000
- Z DB E 0 0 0
2 Bh R & &t 32,000,000 121,000,000 153,000,000
4. FAHISZHIFI FAFHIRA 0
- FARIEZH9F) AR A 7,800,000 0 7,800,000
R RHF AR A 7,800,000 0 7,800,000
5. BRI 0
N T EE 0 21,000,000 21,000,000
-EREMMEESE 0 50,000,000 50,000,000
"BEREXR 0 15,000,000 15,000,000
BRI 0 86,000,000 86,000,000
6. ZD{thiXEE 0
- ZHFIR 200,000 200,000
-FEURA 200,000 200,000
< DI AT EF 400,000 0 400,000
BEEINAEE 40,200,000 207,024,000 247,224,000
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1. BXEE
(MEBEXEAGE
-fERFS 76,000,000 76,000,000
EERME 1,000,000 1,000,000
"-REXEE 1,000,000 1,000,000
EXANGER 0 78,000,000 78,000,000
(2)ZDhEBEERE
-t AN 0 1,000,000 1,000,000
F) 93 0 200,000 200,000
-BIEE 350,000 90,000 440,000
-R&E 880,000 0 880,000
-HFiTE 100,000 0 100,000
-BMERE 0 7,600,000 7,600,000
-EfEH 0 13,200,000 13,200,000
- RE 0 130,000 130,000
1) —R# 0 650,000 650,000
- RER# 1,600,000 6,500,000 8,100,000
-EHEE 300,000 1,800,000 2,100,000
-KENRBE 1,000,000 4,000,000 5,000,000
-BRFE 500,000 3,000,000 3,500,000
HERE 500,000 3,400,000 3,900,000
-FHFR N ER 1,300,000 5,200,000 6,500,000
EE 10,000 20,000 30,000
-LEERE 1,000 4,000 5,000
- X INF 280,000 1,100,000 1,380,000
-HRE 0 160,000 160,000
-HEIREE 0 160,000 160,000
- FKEER 7,000 0 7,000
-HE 0 3,900,000 3,900,000
DB FETE 6,828,000 52,114,000 58,942,000
BERERE 6,828,000 130,114,000 136,942,000
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2 EHE
(1) EEBEANGE
-HBEFY 25,000,000 48,000,000 73,000,000
-EERME 2,000,000 6,100,000 8,100,000
-RAELEE 0 2,700,000 2,700,000
"REXBEE 0 1,000,000 1,000,000
EEANGEE 27,000,000 57,800,000 84,800,000
(2)ZDEBREE
-XIFIR 0 0 0
ZTOMEBREER 0 0 0
EEEH 27,000,000 57,800,000 84,800,000
BEEEREH 33,828,000/ 187,914,000 221,742,000
HEEEEE 6,372,000 19,110,000 25,482,000
T #2 & A IR 2 0
1. BEEEEFTAE 0 0 0
2. BEERTIEIER 0 0 0
BE MR E 0 0 0
ViZ&E 5 & H 0
1. BFEEBRRIEIEE 0 0 0
BENEAR 0 0 0
0
VEEFIE=FS 0
1. BEE & EEHEE 0 0 0
ARk 0 0 0
5| 5T = B IE LR BA BE L8 B8 25,482,000
EANF-ERBRUVUEERR 71,000
2 RAIE LR B EE 1 iR AR 25,411,000
AT S H e B E S SR BE 237,815,643
DR EA 4 B E 1 SR EE 263,226,643

_14_






